

Terraced House in Gozo - Nadur



Gozo - Nadur, Gozo



€330,000

Reference No: 240031047-1556

Total Rooms: 9

Floor Area (m²) : 190

Bathrooms: 3

Bedrooms: 3

Terraced House - For Sale - Gozo - Nadur

A well-planned house for sale in shell form, located in a desirable Urban Conservation Area (UCA) of the charming village of Nadur. At ground floor level, the property features a spacious kitchen and dining area, a separate living room, and a bathroom. The first floor comprises two double bedrooms, one with an en-suite, a main bathroom, and a balcony off one of the bedrooms. The upper floor includes an additional bedroom, a bathroom, a laundry room, and 2 good-sized front terraces, ideal for outdoor enjoyment. An excellent opportunity to finish and customize to your own taste.

Features

- ✓ En Suite
- ✓ Air Space
- ✓ Terrace
- ✓ Balcony

Rooms

- ✓ Kitchen/Dining : 6.72 x 3 m (20.16 m²)
- ✓ Living : 5.48 x 4.28 m (23.45 m²)
- ✓ Double Bedroom : 4.28 x 4.86 m (20.8 m²)
- ✓ Double Bedroom : 3.8 x 3 m (11.4 m²)
- ✓ Double Bedroom : 4.28 x 3.78 m (16.18 m²)
- ✓ Bathroom : 2.5 x 1.2 m (3 m²)
- ✓ Bathroom : 2.07 x 1.15 m (2.38 m²)
- ✓ Bathroom Ensuite : 1.96 x 2.22 m (4.35 m²)
- ✓ Laundry : 2.02 x 2 m (4.04 m²)
- ✓ Open Space : 4.29 x 3 m (12.87 m²)
- ✓ Open Space : 2 x 0.86 m (1.72 m²)

Gallery





Joseph Cassar
RE/MAX Property Centre - Victoria

M: 79280502
E: joseph@remax.com.mt
T: 21566284

RE/MAX Property Centre - Victoria
11, Independence Square, Gozo - Victoria, Malta